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Question 1- A certain work was completed by A in 18 days, B in 24 

days, C in 30 days, If A and C did work for 9 days and then left, then B 

will finishes rest work in how many days?

प्रश्न 1- एक निनित कार्य A द्वारा 18 नििों में, B द्वारा 24 नििों में, C द्वारा 30 नििों में परूा 

नकर्ा जाता ह,ै र्नि A और C िे 9 नििों के निए काम नकर्ा और निर छोड़ निर्ा, तो B 

बाकी काम को नकतिे नििों में परूा करेगा?

A. 13.8 days

B. 12.8 days

C. 15.8 days

D. 18.8 days

E. None of these
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Question 2-

(i) 5p2 + 26p + 33 = 0

(ii) q2 + 18q + 65 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation 
can’t be established,
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Question 3-

(i) 6p2 - 23p + 20 = 0

(ii) q2 - 5q + 4 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation 
can’t be established,
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Question 4-

(i) p2 + 30p + 81 = 0

(ii) q2 + 26q + 48 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation 
can’t be established,
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Question 5-

(i) p2 - 14p + 45 = 0

(ii) q2 - 11q + 30 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation 
can’t be established,
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Question 6-

(i) p2 + 13p + 42 = 0

(ii) q2 + 21q + 104 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation 
can’t be established,
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Question 7- What approximate value should come in place of the 

question mark (?) in the following question?

निम्िनिनित प्रश्न में प्रश्न निह्न (?) के स्थाि पर अिमुानित माि क्र्ा आिा िानहए?

(222.11 + 71.88) ÷ 3.01 =  9.02% of 299.99 + 29.99 + ?

A. 31

B. 41

C. 51

D. 61

E. 71
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Question 8- What approximate value should come in place of the 

question mark (?) in the following question?

निम्िनिनित प्रश्न में प्रश्न निह्न (?) के स्थाि पर अिमुानित माि क्र्ा आिा िानहए?

221.11 + 2.013 + 206.03 = 2.11 ×? +215

A. 130

B. 140

C. 104

D. 110

E. 124
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Question 9- What value should come in place of the question mark (?) 

in the following question?

निम्िनिनित प्रश्न में प्रश्न निह्न (?) के स्थाि पर माि क्र्ा आिा िानहए?

52% of 150 + 25 × 35 - √841 × 9 = ?

A. 592

B. 612

C. 692

D. 792

E. 652
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Question 10- What value should come in place of the question mark (?) 

in the following question?

निम्िनिनित प्रश्न में प्रश्न निह्न (?) के स्थाि पर माि क्र्ा आिा िानहए?

60% of 140 = 25 × 8 - ? + 12 × 8

A. 212

B. 222

C. 232

D. 192

E. 182
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Question 11- What approximate value should come in place of the 

question mark (?) in the following question?

निम्िनिनित प्रश्न में प्रश्न निह्न (?) के स्थाि पर िगभग क्र्ा  माि आिा िानहए?

121 × 6 + 189 = 3500 ÷ 7 + ?% of 45

A. 700

B. 900

C. 800

D. 600

E. 1000
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Question 12- A boat having a speed of 24 Kmph covering a distance of 72 

Km in upstream, and a distance of 60 Km in downstream. if the time taken by 

the boat to cover the distance in up and down is in ratio of 2:1. Find the speed 

of the stream

एक िाव नजसकी गनत 24 नकमी प्रनत घंटा ह ैजो धारा के प्रनतकूि 72 नकमी और धारा के 

अिकूुि 60 नकमी की िरूी तर् करती ह।ै र्नि िाव द्वारा ऊपर और िीिे की िरूी तर् करिे में 

निर्ा गर्ा समर् 2: 1 के अिपुात में ह।ै धारा की गनत ज्ञात कीनजर्े A. 4 km/hr

B. 8 km/hr

C. 6 km/hr

D. 9 km/hr

E. None of these
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Question 13- If the ratio of Income of 2 companies A and B is 7 : 5, while it 

was found that the ratio of expenditure is 5:3,If both the companies saves 

Rs.20,000 in each month. Find sum of monthly income of both the company 

B?

र्नि 2 कंपनिर्ों A और B की आर् का अिपुात 7: 5 ह,ै जबनक र्ह पार्ा गर्ा नक व्र्र् का 

अिपुात 5: 3 ह,ै र्नि िोिों कंपनिर्ां प्रत्र्ेक महीिे में 20,000 रुपर्े बिाती हैं। िोिों कंपिी B की 

मानसक आर् का र्ोग ज्ञात कीनजर्े। A. Rs 40,000

B. Rs 60,000

C. Rs 55,000

D. Rs 50,000

E. None of these
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Question 14- The average weight of 160 students in a class is 60 kg. The 

number of girls in a class are 40% less than the number of boys in a class. 

The average weight of girls in a class is 48 kg. Find the difference 

between the average weight of boys and average weight of girls in a class

प्रश्न 14- एक कक्षा में 160 छात्रों का औसत वजि 60 नकिोग्राम ह।ै एक कक्षा में िड़नकर्ों

की संख्र्ा एक कक्षा में िड़कों की संख्र्ा से 40% कम ह.ै एक कक्षा में िड़नकर्ों का 

औसत वजि 48 नकिो ह.ै एक कक्षा में िड़कों के औसत वजि और िड़नकर्ों के औसत 

वजि के बीि का अंतर ज्ञात कीनजर्े

A. 14.2 kg

B. 15.2 kg

C. 19.3 kg

D. 20.2 kg

E. None of these
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Question 15- There are 3 friends named Sanjay, Tanmay, and David. it 

was found that the average age of Sanjay and Tanmay is 44 years. While 

the ratio of Sanjay and David ages is 5:7, and the sum of all the friends 

together is 144 years. what will be the present age of Tanmay?

सवाि 15- संजर्, तन्मर् और डेनवड िाम के 3 िोस्त हैं। र्ह पार्ा गर्ा नक संजर् और 

तन्मर् की औसत आर् ु44 वर्य ह।ै जबनक संजर् और डेनवड की आर् ुका अिपुात 5:7 ह,ै 

और सभी नमत्रों का र्ोग 144 वर्य ह।ै तन्मर् की वतयमाि आर् ुक्र्ा होगी?

A. 24 years

B. 44 years

C. 54 years

D. 48 years

E. None of these
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Hold 20- P invested Rs. 10,000 in a business and after 6 months, Q 

also joined him. At the end of year, B received Rs. 5400 profit out of 

Rs. 17400. Find the investment of B

- P िे एक व्र्वसार् में 10,000 रुपर्े का निवेश नकर्ा और 6 महीिे बाि, Q भी उसके 

साथ शानमि हो गर्ा। वर्य के अंत में, B को 17400 रुपर्े में से 5400 रुपर्े का िाभ 

प्राप्त हुआ। B का निवेश ज्ञात कीनजर्े
A. Rs 8000

B. Rs 9000

C. Rs 7000

D. Rs 5000

E. None of these
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Company 

Name

PEN BOOKS TABLE

P 1000 300 300

Q 1300 200 400

R 1500 200 600

S 1600 400 800

T 1000 500 1000

The given table shows the manufacturing of Pen, books and Table of five 

different companies.

िी गई तानिका पांि अिग-अिग कंपनिर्ों के पेि, पसु्तकों और तानिका के निमायण को िशायती ह।ै
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Company 

Name

PEN BOOKS TABLE

P 1000 300 300

Q 1300 200 400

R 1500 200 600

S 1600 400 800

T 1000 500 1000

Question 16- A new company Y joins then the manufacturing of Pen in R 

increased by 40% and the manufacturing of Books decreased by 20%.Then 

find total number of product pen and books manufactured by company Y.

प्रश्न 16- र्नि कोई िई कंपिी Y जडु़ती ह ैतो R में पेि के निमायण में 40% की वनृि होती ह ैऔर 

पसु्तकों के निमायण में 20% की कमी होती ह।ै तो कंपिी Y द्वारा निनमयत उत्पाि पेि और पसु्तकों 

की कुि संख्र्ा ज्ञात कीनजर्े।

A. 6160

B. 1960

C. 1460

D. 7160

E. None of these
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Company 

Name

PEN BOOKS TABLE

P 1000 300 300

Q 1300 200 400

R 1500 200 600

S 1600 400 800

T 1000 500 1000

Question 17- If manufacturing of books and pen  in S increased by 30% and 

20% respectively. Then what will the ratio of books and pen.

प्रश्न 17- र्नि S में पसु्तकों और किम के निमायण में क्रमशः 30% और 20% की वनृि हुई ह।ै तो 

नकताबों और किम का अिपुात क्र्ा होगा?

A. 25:24

B. 65:24

C. 34:65

D. 65:44

E. None of these
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Company 

Name

PEN BOOKS TABLE

P 1000 300 300

Q 1300 200 400

R 1500 200 600

S 1600 400 800

T 1000 500 1000

Question 18- Total manufacturing of pen in P, R and T is what percent of total 

table manufactured in R, S and T.

प्रश्न 18- P, R और T में पेि का कुि निमायण, R, S और T में निनमयत कुि तानिका का नकतिा 

प्रनतशत ह?ै

A. 212.75%

B. 210.75

C. 112.75%

D. 218.75%

E. None of these
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